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Note :— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper. '

Attempt AWl questions.
All gquestions carry eqmﬂ marks.

1. What are the assumptions of traditional micro-
economic theory ?- What are its limitations in

explaining growth of the firm ?
OR

What is ‘Penrose Effect” ? Explain the implications
for- dynamic equilibrium of the firm.
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2. (a) Compare the traditional and modern cost curves.

(b) Prove that both AC and MC are U-shaped and
MC attains the minimum value at a lower level of
output compared to AC.

OR

With the help of lagrangian multiplier, prove that a
producer with a financial constraint will attain
equilibrium when he/she derives the same marginal
product per unit of rupee from both the factors of
production.

() WowE wwm FfE AR aw 9 geen @
(a)ﬁza&ﬁq%AcaﬂchaﬁfUﬁw%a%
¥ @k AC & g#m ¥ MC 9= @ fad "R«
AR Y W F ol B | |
e
PR o 9t weT ¥ g Afw & B o 3w
T e o e A 99 TENT 9 98 IAweT B Ay

FRE ¥ IFN € Ga IAE TR H IR gl S
wHan ?



9903 3

3.

4.

Compare Perfect Competition with Monopoly. How
will the long run equilibrium under these market forms

change if there is (i) increase in cost of production

and (ii) a specific sales tax is imposed by the

government. - _
OR
Explain an iso-profit curve. With the help of these

curves prove that the industry profit is not maximized’
under Cournot equilibrium.
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“Traditional pricing theory fails to explain the
occasional 'practice of firms setting prices
corresponding to the inelastic part of the demand
curve.” Discuss. Which pricing theory addresses this
issue ? Elaborate. '

OR

(a) Explain the monopolistic exploitation of labor. Why
does it arise ?
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(b) What do you méan‘by the Adding Up problem ?
Explain Euler’s Product Exhaustion theorem in this

context.
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5. How can you distinguish between risk and
uncertainty ? Explain their role in economic decision
making. '

OR
What are the consequences of asymmetric
information ? Explain with an example.
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